VINTAGE MORTISE 6

MONTEROSSO 3

RISULTATO SET TOTALE

SQUADRA A SQUADRA X 2 3 4 5 SET PUNTI |PARTITE
A XA X A XIAIX AIXIAIXIAI X|A|IX
A [FRANCESCHINI X |GUARIENTO 11,8 |11/ 6 |11 8 3/0(33/22/1]|0
B |[BERTON Y |RETANI 9 |11 |11[4 {11 3 |11 | 1 3/111/42(19| 1|0
DP|CIBIN-BERTON DP|GUARIENTO-FAVERAT( 11| 6 |11 9 |11 9 310133241 0
C |CIBIN Z [FAVERATO 511 9 [11]11 |13 0 3|25/35|,0 |1
B BERTON X |GUARIENTO 11,5 (1311 |11 4 310|320/ 1|0
A [FRANCESCHINI Z [FAVERATO 511111, 8|3 |11, 7 |11 11326410 | 1
C |CIBIN Y |RETANI 11/ 9 8 |[11/11] 5 |11] 3 311/41/28|/ 1|0
B BERTON Z [FAVERATO 4 112 |11/11]3 |11 3|8 |11|2|3|36|39| 0|1
C [CIBIN X |GUARIENTO 11,6 (11| 5 |11 4 3/0(33/15/ 1|0

A Y 0|0
TOTALI| 21| 11 |304|243| 6 | 3




